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Angular Momephun feuising  and lowerny  operators

e crgular  Momerhum w‘su'/g and iaw'/f( o pesators

ddhaed as:

A A ~ o
]’+ :_j% +ijg» 44— f‘alsaij oj)-e/‘nlwr

T —j —1'5 f— lwtry  gembor

len  we n  use oparabr algg,bra o show:

AL A

AT P
f) y= 3 andh j—‘—:f_;,




1 Angular momentum ladder operators

The angular momentum raising and lowering operators are:

a) Show that

b) Show that
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2 Angular momentum eigenstates

For each of the following list all angular momentum eigenstates and eigenvalues}
j=1/2,7=1,j=3/2 and j =2.
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3 Orbital angular momentum

For each of the following states determine: (L) and (L,).
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d) How would you describe each such particle in terms of orbits?
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